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MODEL QUESTIONS

Directions (Q.No.1-5) : Study
the following graph carefully and
answer the questions below.

The given pie-chart shows the

distribution of spending on diffe-

rent food items.

Prawns,81O

Biryani,64O

1. What percent of total spending
was on chole bhature?
a) 12.78% b) 10%
c) 13.9% d) 11.95%
e) 14.23%

2. The amount spent on prawns is
how much percent more than that

7~
\_ Solutions )

1. a; Centre angle of total expense
= 360°
Centre angle for the expense on
chole bhature = 46°
Percentage of money spent on

chole bhature

= 4—6><100 =12.78%
360

2. b; Let the total expenditure on
all the different food items be

Rs. X
Amount spent on Biryani
64 8x
=——Xx=—
360 45
Amount spent on prawn
81 9x
=—XXx=—
360 40

Required percentage

(9x)_(8x)
_ {40 ) {45 ) 100=1" %100
64

8x

45
=26.56%

3. d; Central angle for expense on

biryani = 64°
Centre angle for expense on
Fish = 79°
Total expense = Rs. 500000
The amount spent on fish
exceeds on Biryani by a central
angle of (79 — 64) =15°
Exceeding amount

_ ST x 500000

= 20833.33 = 20833

4. b; Let the total spending on
foods be Rs. X
Amount spent on chicken

on Biryani?

a) 29.50% b) 26.56%

c) 28.65% d) 35.79%

e) 36.15%

If the total amount spent on food
items 1s Rs. 500000, then the
amount spent on fish exceeds
that on Biryani by: (approx)
a) Rs. 21622  b) Rs. 19622

c) Rs. 15632  d) Rs. 20833

e) Rs. 22623

The spendings on others is how

much percent less than that on
Chicken?

a) 18.89 b) 22.22
c) 24.65 d) 19.44
e) 23.29

If the total amount spent on food
be Rs. 720000. Then find the av-
erage amount spent on Biryani,
others and Chicken?  (approx)

a) 82362 b) 85333
c) 85362 d) 86334
e) 89456

M and N can do a work in 10
days and 15 days respectively. If
M starts on the work and both
work alternately day after day. In
how many days will the work be

completed?
a) 10 b) 12 c) 8
36 X
=——XXx=-—
360 10
Amount spent on others
28 Tx
=——XXx=—
360 90

.. Required percentage

() )
_\10 20 x100=22.22

X
10

b; Given that, total amount
spent on food = 720000

Amount spent on Biryani

= 6—4>< 720000 =128000
360

Amount spent on others

= ﬁ>< 720000 = 56000

360
Amount spent on Chicken
= 36 % 720000 = 72000

360

Required average amount
B (12800 +56000 +72000)

3

= 85333.3=85333

b; Work done in 1st two days
I 1 3+2 1

L
10 15 30 6

.. Number of days = 12

a; Minimum temperature from

Monday to Wednesday is 28°C

.. Minimum temperature for 3

days is 28°C

Minimum temperature from

Thursday to Sunday is 35°C

. Minimum temperature for 4

days is 35°C

Now, Sum of minimum

temperature for the week

= (3 x28) + (4 x 35)

. Sum of minimum

BANK
POs, Clerks

Quantitative Aptitude

___Special

Also useful for
Other Competitive Exams /

d) 9 e) None of these
The minimum temperature from
Monday to Wednesday is 28°C
and from Thursday to Sunday, it
is 35°C. What is the average
minimum temperature for the
week?

a) 32°C b) 31.5°C
c) 30°C d) 32.5°C
e) 30.5°C

A sum was put at simple interest
at a certain rate for 3 years. Had
it been put at 3% higher rate, it
would have fetched Rs. 27 more.
The sum is?

a) Rs. 400 b) Rs. 250

c) Rs. 300 d) Rs. 500

e) None of these

temperatures = 224

We know that, Average = Sum
of all observations / Number of
observations

. Average minimum
temperature = Sum of minimum
temperatures/No. of days

= Average minimum
temperature = 224/7

= Average minimum
temperature = 32°C

¢; Formula for simple interest.
g[ = PXRXT

100
Where, P =Principal
R = Rate of interest
T = Time period
Let the sum be Rs. X and the
original rate be R%

XX Rx3
SI=
Then 100
Where rate is increased by 3%
Then R=R +3
and SI= X X(R+3)x3
100

According to the question, the
difference between the two
equations is Rs. 27

. XX(R+3)x3) XXRX3 _

27
100 100
. 3XR+9X -3XR _ 57
100
9X
=—=27 = 9X =2700
100
2700
= X = 5 = X =300

d; Amount of mixture = 40L
Amount of water initially

= 10 x40=4L
100

Let 'x' be the amount of water

9. A mixture of milk and water |

contain 10% water. Determine
the amount of water to be added
to the mixture in order to change
the water content to 20% if ini-
tially, the mixture is of 40 L?
a) 6L b) 6.5L c) 5.5L
d) 5L e) 4L
10. If the shopkeeper keeps the
marked priceof an article to Rs.
2500 and says to give two
successive discounts of 15% and
20% and still manages to earn a
profit of 10%, find the cost price
of the article?
a) Rs. 1525.45 b) Rs. 1545.45
c) Rs. 1595.65 d) Rs. 1625.45
e) Rs. 1725.45
Directions (Q.No. 11-15) :There
are 3 school buses: Bus A, Bus B
and Bus C. The ratio of boys and
girls in Bus A is 3.2. 25% of all girls
are in Bus B and the number of
girls in Bus C is 16 more than in
Bus B. The ratio of the number of
boys in buses B and C is 5:8. There
are 220 students in total and the nu-
mber of students in Buses A and B
are equal. There are 100 students in
Bus C.
11. What is the overall ratio of the

to be added
:>[(4+x)}<100=20
40+ x

= 40 +10x = 80 +2x
= 8x =40

40
= X=—=

8

.. SL of water is to be added to
the mixture
10. b; Let the cost price be x

Marked price of article
= Rs. 2500
Price after first discount

\
= (ﬁ x2500=Rs.2125

100
Price paid by purchaser
)
= 2, X 2125=Rs.1700
100

Profit = 10%
:>x+(£)><x=1700
100

= X = Rs.1545.45

. Cost price = Rs.1545.45
11. b; Sum of the number of

students in Buses A and B

=220-100=120

Number of students in each of

Bus A or Bus B

E
2

Number of boys in Bus A

= (é)*60: 36
5

Number of girls in Bus A
=60-36=24
Let the total number of girls be 'g’
So, Number of girls in Bus
p=22_3

100 4
Number of girls in Bus

number of boys to girls in all 3
buses?
a)7:3 b)7:4
c)8:3 d)8:5 e)9:7
12. What percentage of all girls are
in Bus C?
a) 40% b) 35%
c) 50% d) 45% e) 55%
13. The sum of the number of girls in
Buses A and C is what percent of
the sum of the number of boys in
the same 2 buses?
a) 60% b) 80%
c) 75% d) 48% e) 64%
14. In Bus B, 15% of the boys and
20% of the girls got out in Kor-
mangala and 8 boys and some
girls got out in silk board such
that the ratio of boys to girls on
bus became 2 : 1. How many
girls got out in silk board?
a) 1 b) 2 c)3
d) 4 e)S
15. What is the ratio of the difference
between the number of boys and
girls in Bus A to the difference
between the total number of
students in buses B and C?

a)7:10 b)3:10
c)4:’7 d)6:11
e)5:13

e S o S e
4 4 4

:>%=40:>g=80

Total number of boys

=220 - 80 =140

Sum of the number of boys in
Buses A and B = 140—- 36 = 104

So, 24+8+8416=9=8=40
4 4 2

= g =280
I Boys Girls Total
BusA | 36 24 | 60
BusB | 40 20 .60
BusC | 64 36 | 100
Total | 140 | 80 | 220

Total no. of boys = 140
Total no. of girls = 80
Required ration =140 :80=7 : 4
12. d; Required percentage
36

=-—x100=45%
80
13. a; Number of girls in A and C= 60
No. of boys in A and C = 100
Required percentage = 60%
14. ¢; Number of boys in Bus B
after Koramangala

= ﬁ x40 =34
100

Number of girls in Bus B after
Koramangla

= & x20=16
100

Number of boys after Silk
board in Bus B =34 — 8 =26
Number of girls after Silk board
in Bus B =26/2 =13
Number of girls who got out in
Silk board =16 — 13 =3

15. b; Required ratio
= (36—24) : (100 - 60) =3 : 10
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(( Quantitative Aptitude )) Answers with Explanation

th

9.

10,

11.

12.

13.

14.

15.

sogsse

H&
()

What is Meena's present age?

A can do a piece of work in 25 days. B is 25% more
efficient than A. The number of days taken by B to do
the same piece of work 15?7

(a) 20 (b) 10 (c) 15 (d)12
A can do a work in 15 days and B in 20 days. Il they
work on it together for 4 days. then the fraction of the
work that is left 1s :

1 7 8
@ ® 15 (©) 13 @ 13

. Two persons A and B are engaged in a work, A can do

a picce of work 1n 15 davs and B can do the same work
in 20 days. They work together for 3 days and then A
goes away. In how many davs will B finish the work?
(a) 15 (b) 12 (c) 14 (d)13

A and B can do a piece of work in 10 days, B and C in
15 days, C and A in 20 days. In how many days will
they finish it together and separately?

120 60 EU 130
@) |3 (b) 13 © ¢ d 15
A alone can do a piece of work in ﬁ da} sand B alone in
8 days. A and B undertook to do it for Rs. 3200. With
the help of C. they completed the work in 3 davs. How
much 18 to be paid to C?
(a) Rs. 375 (b) Rs. 400  (c) Rs. 600 (d)Rs. 800
Four vear ago average age of P, Q and R is 33 years. At
present, age of R 1s three year less than QQ and P is three
year older than Q. then find the age of P one year hence?
(A) 36 years (B) 38 years
(C) 40 vears (D) 41 years
Babita“s present age is 6/5 times of her age at the time
of her marriage and she got married 6 vears ago. Age
of her son is 1/12 of her current age. Find the age of her
S011.
(A) 3 years (B) 4 vears
(C) 5 vears (D) 6 vears
Rajym was married 8 year ago. Today her age 1s 9/7
times to that time of marriage. At present his son’s age
is 1/6th of her age. What is her son’s age 3 year hence?

(A) 5 vears
(C) 12 years
The average age of eleven cricket players is 20 years.
Il the age of the coach 1s also included. the average
age increases by 10%, the age of the coach is—

(A) 48 vears (B) 44 vears
(C) 40 vears (D) 36 vears

At present Meena is eight times her daughter’s age. 8
vr from now, the ratio of the ages of Meena and her
daughter will be 10 : 3, respectively. What is Mecna’s
present age?

(A) 48 vears (B) 44 years
(C) 40 vears (D) 32 years

fx—v:v—z:z—k=2:3:5, then what is the value of
k:(x+k)?

(B) 9 vears
(D) 15 vears

(A)4:3 B)2:1 (©)1:3 (D)1:4

If x* —x+/68 +1=0, then what is the value of X —; ?
(A) V66 (B)8 (C)v62 (D)6

If x +y=7, then what is the value of x* + y* +21xy?
(A) 343 (B)49 (C) 294 (D) 288

If 2a—(2/a)+4=0, then what is the of
a’—(1/a’)+147

(A)-14 (B)-12 (C)0 (D) 14

If oe and P are the roots of the equation x° — x + 3 =0,

then what is the value of o +p*

(A)7 B)9 ()11 (D) 13

1. (a)

2. @

3. @

4. (a)

3. (b)

6. (D)

T. (A)

8. (B)

Let A’s efficiency 100%
100xdays  25x100
100+ % 100+ 25

B = 20 days

I
Asl k=
s 1 day’s wor 15

1

B’s 1 dav's work = E

1 .9 7
(A+B)’s 1 day's work = ot =

4 7 7
(A+B)sddayswork = EKII = —

Therefore. Remaining work = (1 — E] ~h :

1
Work done by Ain 1 day = —

15
1
Work done by B in 1 day = 20
Work done by A and B together in 1 day

1 1 443 7

_|_
15 20 60 60
Work done by A and B together in 3 days

7 7
= — % 3=
60 20
Biing Wk L 2
maining Wwork = 20 20
Number of days taken by B to finish the remaining
13
work = % = 13 days.
20

LCM of 10, 15, 20 is 60

Therefore efficienciesof A+ B, B+ C,C+ Aarein

ratio 6 : 4 : 3 respectively.

So number of days required to complete the work
2 120

6+4+3) 13

by working together is 60%

FYPRINC N
C'slday'swork=3=| ¥ 5 T3 75,75,

1.1.1
68 24

A’s wages : B's wages : C's wages =

=4:3:1.
. C’s share (for 3 days) = Rs

1
Ix—x3200 | =
( 24 ] Rs. 400,

Let present age Q be "X’
Present Age of P=x+3

Present Ageof R=x-3

ATQ
(X+3+x+x—-3)—-4x3
3 =

x—4=33

X =37 years

Age of P After 1 year=37 +3 + 1=41 vears
Her age at marriage = 5x

Her present age = 6x
Difference=6x-5x=x

X = 6 years

Present age = 36 vears

Hence son's age = 36/12 = 3 vears
Rajni’s age at the time of marriage = 7x
Rajni’s age at present = 9x

9.
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Difference=9x-Tx=2x

2x =8 years

X=4

Rajni’s age at present = 9 x 4 = 36 vears
: 36

Son’s age = - 6 years

After 3 years =6 + 3 = 9 years

(B) Average age of 11 players = 20 years
Average age of 11 plavers + coach
= Eﬂ+%x 20 = 22 years
Thencoach age=(12 =22 -20x11)
=264 — 220 = 44 years

10. (D) Let age of daughter = x yr

11.

12,

13.

14.

15.

Age of Meena = Bx yr
According to the question,
8x+8x+8= 103
24x+24=10x+80

14x= 56
x=4
Hence, Mecna's present age =4 x 8 =32 vr

(A) Patx=2,y=0,z=-3 k=-8
This satisfics the eq”.
k:(x+k)=—8:(—-6)=4:3

B) x*+1= xJ68

1
x+—=@

X

- ] 2
[x+-] = 68
X
2

.."il
1y
ot -
x
1
x—— =8
X
(A) Putx=7,v=0
Xx+y="7
T+0=7

x* + }-‘3 + 2 1xy

=P+ (0P +21 x7=0
=343

© 22-==-4

—6=-14
a’ —i.‘-l—lii-zﬂ'
%
A) x}—x+3=0 .. (i)
B+Pp=1
a.p=3
o+ B2+ (o + B —20p
25=u"1+ﬁ"+29-=9[14+[3¢='?
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Observe the following

1. International Solar Alliance (ISA)
Head Quarters 1s in France

2. International Solar Alliance Head
Quarters 1s in India

3. Recently Palau has jointed in
International Solar Alliance

4. The member countries in ISA are
either completely or partly between the
Tropic of Cancer and the Tropic of
Capricorn.

which of the above are true

A)134 B)14 C)234 D)1,3

The order of international

summits/Sport events that will be held

in India in 2020, 2022,2023

respectively?

A) ISSF World Cup, G-20 summit, ICC

World cup
B) G-20 summit, ISSF World ¢ up, ICC
World cup

C) G-20 summit, World Cup, ICC World cup

D) None

Z.akhir Hussain, Sonal Mansingh,

Jatin Goswami and K

Kalyanasundaram Pillai, are in news

in recent times the

reason is?

A) All of them chosen to be the cultural

representatives of India to UNO

B) They will represent India in all

international music competitions

C) Akademi Ratna category by the

Sangeet Natak Akademi

D) They have been given Padma Bushan

award

Pernell whitaker, a US citizen passed

away recently he associated with?

A) Foot Ball B) Swimming

C) Tennis D) Boxing

Assertion: Union Ministry of Health and

Family Welfare has launched a Jan

Jagrukta Abhiyaan

Reason: Union Government wants to

accelerate measures for prevention and

control of Vector Borne Diseases like

Malaria, Dengue and Chikungunya

A) Both A and R are true and R s the

correct explanation of A
B) Both A and R are true but R is not the
correct explanation of A

C) A is true but R s false

D) A is false but R 1s true

Observe the following?

1. Narender Gahlot became the second
youngest player to score an
international goal for the Indian
football team

2. Ramchander Gahlot became the second
youngest player to schore an international
goal for the Indian football team

3. Jerry Zirsanga holds the record for being
the youngest player to register a goal

4. Jerry Zirsanga belongs to Mizoram

which of the above are true

A)234 B)l4 C)1,34 D)23

Assertion: Christine Lagarde has

resigned as the Managing director of

International Monetary Fund

Reason: Christine Lagarde 1s the first

woman to become Managing Director of

International Monetary Fund

A) Both A and R are true and R 1s the

correct explanation of A
B) Both A and R are true but R is not the
correct explanation of A

v Boris Johnson was elected as the
Conservative Party leader and
Britain’s new Prime Minister.
Johnson, the former foreign

(D0 25, 2B 2019 - SO R

Kumaraswamy govt falls as it

loses confidence vote in assembly

v The Congress-JDS government in

10.

11.

Karnataka collapsed after the
confidence motion moved by Chief
Minister H D Kumaraswamy was
defeated in the assembly, ending his
14-month long turbulent tenure.
Twenty one MLAs—

Congress-JDS (17),
BSP (1),

Independents (2) For All
skipped the Competitive
proceedings, Exams

reducing the
effective strength of
the House to 204. The

magic figure required was 103. But he
was unable to get that majority

C) A is true but R i1s false

D) A is false but R is true

Observe the following

1. Ursula von der Leyen has been elected

as the European Commission’s first
female president

2. Stoikis has been elected as the

European Commission's first female
president

3. Stoikis belongs to Spain

4. Ursula von der Leyen belongs to

Germany

Which of the above are true

A)1,34 B)24 C)1,3 D)14

Justice AK Sikri is in news recently,

reason is...?

A) He has been appointed as the India's
representative of International Court
(Hague)

B) He has been made part of Ayodhya
Dispute settlement committee

C) He has been appointed as an
international judge of the Singapore
International Commercial court
(SICC)

D) He has been appointed as arbitrator
for solving Israel, Palestine Issue

Rohan Bopanna and Women cricketer

Smriti Mandhana are in news in recent

times, reason is?

A) For both of them Arjuna Award was
conferred, Bopanna is tennis player,
where as Smriti Mandhana is
cricketer

B) For both of them Arjuna Award was
conferred, both are tennis players

C) For both of them, International player
award was declared, opanna is tennis
player, where as Smriti Mandhana
is cricketer

D) For both of them, International Player
award was declared, both of them are
tennis players

Fernando Corbato, passed away

recently, he associated with?

Boris Johnson wins leadership race to become UK’s new PM

secretary, secured 92,153 votes
against 46,656 of his rival Jeremy
Hunt in the battle for Prime
Ministership.

12.

13.

14.

15.

16.

17.

18.

19.

Who is the governor of Nagaland?

1.

A) First to use Mail sending through

internet

B) First to use passwords to protect user

accounts

C) First to invent Local Area Net Work

(LANC)

D) None

Observe the following?

1. The Government of India has
approved a project to build the India-
based Neutrino Observatory (INO)

2. INO will come up in Kerala

3. INO will come up in Tamilnadu

4. The project aims to set up a 51000 ton
Iron Calorimeter (ICAL) detector to
observe naturally occurring
atmospheric neutrinos

Which of the above are true

A)1,24 B)l4 (O)1,34 D)1,2

Assertion: HDFC Bank and Common

Services Centres (CSCs) launched a co-

branded ‘Small Business Money

Back Credit Card

Reason: HDFC Bank and CSCs want to

help small traders and village-level

entrepreneurs (VLESs)

A) Both A and R are true and R is the

correct explanation of A
B) Both A and R are true but R is not the
correct explanation of A

C) A is true but R s false

D) A is false but R i1s true

Which of the following former Indian

cricketer has been appointed as the

USA cricket team’s interim coach

A) Dilip Vengsarkar

B) Javagal Srinath

C) Anil Kumble

Match the following?

1. World day of International Justice

a.July 17th

2. UNO day  b.October 24th

3. Nelson Mandela International day

c.July 18th

4. International day for eradication of

poverty

D) Kiran More

d.October 17th
A) 1-b, 2-c, 3-a, 4-d
B) 1-d, 2-c, 3-a, 4-b
C) 1-ad, 2-b, 3-c, 4-d
D) 1-d, 2-b, 3-a, 4-c
Assertion: Human Resource
Development Ministry (HRD) launched
“Deeksharambh”, a guide
Reason: HRD ministry wants to guide
Student Induction Programme and it 1s to
help new students adjust and feel
comfortable in the new environment
A) Both A and R are true and R is the
correct explanation of A
B) Both A and R are true but R is not the
correct explanation of A
C) A is true but R 1s false
D) A is false but R is true
Which of the following is first ever
Himalayan states conclave on July 28?
A) Arunachal Pradesh
B) Sikkim C) Himachal Pradesh
D) Uttarkhand
According to Telecom Regulatory
Authority of India which of the
following companies are in first and
second position in mobile operations
A) Vodafone and Airtel
B) Airtel and Reliance Jio
C) Vodafone and Reliance Jio
D) Airtel and Vodafone
Assertion: BSE has inked a pact with
Haryana government
Reason: The headquarters of BSE is in
Mumbai
A) Both A and R are true and R is the
correct explanation of A
B) Both A and R are true but R is not the
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correct explanation of A
C) A is true but R 1s false
D) A is false but R is true
20. Among the following Indian cricketers,
who are in ICC Hall of Fame
1. Sachin Tendulkar
2.Kapildevi
3.Bishan Singh Bedi
4.Saurav Ganguly
5.Rahul Dravid
6.Anil Kumble
7.Sunil Gavaskar
A)1,2,4,5,6,7 B) 1,2,3,4,6,7
C) 1,2,3,4,5,6 D) 1,2,3,5,6,7
21. “Kargil: Untold stories from the War”
book is written by
A)NK Singh
B) Natwar Singh
C) Rachna Bisht Rawat
D) Ajit Doval
22. Assertion: The International Cricket
Council (ICC) has suspended Zimbabwe
Cricket team
Reason: In November 2017, in
Zimbabwe the army led a coup d'état
A) Both A and R are true and R i1s the
correct explanation of A
B) Both A and R are true but R is not the
correct explanation of A
C) A is true but R s false
D) A is false but R is true
23. Match the following states and
Governors?
1.Lalji Tandon
a.Madhya Pradesh
2.Jagdeep Dhankhar
b.West Bengal
3.Ramesh Bias c.Tripura
4.RN Ravi d.Nagaland
A) 1-a, 2-b, 3-c, 4-d B) 1-d, 2-c, 3-a, 4-b
C) 1-d, 2-c, 3-b, 4-a D) 1-d, 2-b, 3-a, 4-c
24. ABH], is in news in recent times, what
is it?
A) It is a new type of soft ware
exclusively for banks
B) It is a new operating system for all
kind of core banking
C) It is an Artificial Intelligence
interactive assistant of Andhra bank
D) It is an Artificial Intelligence
interactive assistant of SBI
25. International shark awareness day is
celebrated on?
A) July 14th B) July 15th
C) July 16th D) July 17th

ANSWERS

1-C 2-A 3-C 4D S5-A 6C
7-B 8D 9-C 10-A 11-B 12-C
13-A 14-D 15-C 16-A 17-D 18-C
19-B 20-D 21-C 22-B 23-A 24-C
25-A
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What is the meaning of ‘Drowsy’?

Test of Reasoning

v

71.

72.

73.

74.

Direction (71-75): In the following
questions two columns are given
containing three sentences/phrases each.
In first column, sentences/phrases are A,
B and C and 1n the second column the
sentences/phrases are D, E and F. A
sentence/phrase from the first column
may or may not connect with another
sentence/phrase from the second column
to make a grammatically and contextually
correct sentence. Each question has five
options, four of which display the
sequence(s) in which the
sentences/phrases can be joined to form a
grammatically and contextually correct
sentence. If none of the options given
forms a correct sentence after
combination, mark (5), i.e. “None of
these” as your answer.

COLUMNII
A. The great tasks of the university in the
next generation are to search the past
B. In the industrial era, mechanical
bulldozers allowed workers
C. It is time we shed the shovels and
exploited bulldozers
COLUMN II
D. To squint eyes and scorch or brains for
an idea
E. And many other options consider
F. To form the future and to begin an
earnest search for new programs

1) A-F 2)C-D 3)A-E,B-D
4) A-D 5) None of the above
COLUMNII

A. When people talk about information

B. No one talks about information work

C. sometimes life takes us in a totally
new direction of which we are quite
unprepared of

COLUMN II

D. The activity people and machine
perform when they transform
information

E. Its all about having fun

F. They think of traditional content of
books, newspapers and television.

1) A-F 2)C-D 3)A-F,B-D
4) A-D 5) None of the above
COLUMN I

A. The phenomenon is visible among the
bureaucrats

B. This contrast in human behaviour can
perhaps be traced to age — old beliefs

C. There i1s a lack of cohesion among
individuals, states and groups

COLUMN II

D. Which is irrelevant to the policies of
state.

E. All those who matter and who give a
poor account of themselves

F. The politicians, the intellectuals, the
business community and the sports

fraternity
1) A-F 2)C-D
3)A-F, B-D 4) A-D
5) None of the above
COLUMN I

A. Faith in progress is deep within our
culture

B. But much of her confidence about our
well-being comes from

C. They were materially poor by
contemporary

COLUMN 11

D. The assumption that our lives are easier

than those of earlier generations

E. It’s not right to always to judge people on

the basis of what they wear or eat.

F. We have been taught to believe that our

7S.

76.

77.

lives are better than those who came
before us

1) A-F 2)C-D

3)A-F, B-D 4)A-D

5) None of the above
COLUMNII

A. Electronic proximity will strengthen
tribalism and

B. At the same time electronic proximity
will strengthen diversity

C. To do so, they will have to play by the
rules of engagement

COLUMN II

D. This wont lead to a global culture

E. Sometimes this is seen as a tool to
target other cultures.

F. Ethnic groups scattered across the
globe will have a way to unite.

1) A-F 2)C-D
3)A-F, B-D 4) A-D
5) None of the above

Directions (76—80): In each of the
following sentences there are two blank
spaces. Below each sentence there are
four words denoted by numbers 1), 2), 3)
and 4). Find out ONE word that to be
fitted in both the sentences I and II and
another word that fit to the sentence I11
and to make it meaningfully complete. In
case no word 1s fit to these sentences,
option 'S' is the answer.

I. The change that has taken place in him
cannot lessen his love for his
neighbours; on the contrary, that
change can only ........... love in his
heart.

I1. Tt said that cancellation of President
Clinton's planned visit to India this fall
would be disastrous and only ...........
nationalist fervor in that country.

ITI. As the Looking-glass represents not
any 1mage within itself, unless it
receive some from without; so the
Moon have not any light, but what is
........... by the Sun.

1) Deepen, granted

2) Exaggerate, imparted

3) Inflate, given

4) Intensify, bestowed

5) Increase, conferred

I. Everything feels so warm and lovely,
very much different from the ............
atmosphere of the sea over at our place.

I1. Watching television or listening to
music or a book on audiotape until
becoming ........... promotes falling
asleep naturally.

ITI. That was made apparent by our
............ of the subject, and by our
agreeing-without agreement-to make
my recovery of the use of my hands a
question of so many hours, not of so
many weeks.

78.

79.

80.

81.

82.

1) Drowsy, avoidance

2) Lethargic, prevention

3) Dozy, hindrance

4) Weary, difficulty

5) Indolent, complexity

I. When Margaret was trying to sell her
home, she hired an interior decorator to
............ the spacious design of the

property.
IL. I actually like a bit of humour; when
applied correctly it can ............ the gist

of an item and throw into sharp relief
what the "community" really thinks.

III. Psychologists now believe that
memory deficits which occur as we
get older may be because we lose the
ability to ............ irrelevant thoughts
or irrelevant stimuli.

1) Emphasize, stifle

2) Highlight, restrain

3) Stress, bring

4) Show up, contain

5) Accentuate, suppress

I. Former militants with military-style
firearms were able to ............ millions
of dollars from Government coffers.

I1. The con man hoped to ............ money
from the grocery story by pretending
to fall on a slippery floor.

III. However, the proposed Bill does not
include the two crucial provisions for
taking ........... of the landowner and
the social impact assessment of the
displacement.

1) Wring, compliance

2) Extract, accord

3) Extort, consent

4) Force, denial

5) Vigor, dissent

I. Even though the company claims the
energy drink is .......... , you may
experience some unwanted side effects
after drinking the beverage.

I1. Because the new tax laws were voted
1n at the last moment, we can assume
their effects will not be nearly as
............ as Congress suggests.

ITI. A recent study reveals that good
marriages may protect couples
against the stress of ............ jobs in
which the worker has little control.

1) Kind, difficult

2) Benign, demanding

3) Gentle, severe

4) Tender, hard

5) Mild, challenging

Direction (81-82): In each of the

following questions given below you

have to select the phrase/word that can be

a connector/ (STARTER) from the given

three options that can be used to form a

single sentence from the two sentences

given below, implying the same meaning
as expressed in the statement sentences.

A. A new survey by HSBC has found a
majority of the Indian urban middle
class to be positive about the next 12
months.

B.The majority of the Indian urban
middle class is found to be positive
about the next 12 months in spite of the
concerns about a slowdown.

(1) Inspite of the concerns ...........

(11) Notwithstanding the concerns about a ....

(111) After being positive about the next ...

1) Only (i11)  2) Both (1) and (i11)

3) Only (1) 4) Both (1) and (i1)

5) All of the above

A. India being home to some of the worst
mine disasters, such as Chasnala near
Dhanbad in 1975 in which more than

ntnews.com (Ese) ntadilabad.com
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83.

84.

85S.

370 people were killed

B. The full spectrum of mining activity
should be tightly regulated as in areas
like Dhanbad in 1975 more than 370
people were killed.

(1) Although ...........

(1) For many years, India has been a

home to ...........

(111) Notwithstanding ...........

1) Both (1) and (i1)

2) Both (i1) and (iii)

3) Only (i1)

4) All of the above

5) None of the above

Directions (83-85): In the question given

below two statements are given which are

grammatically correct and meaningful.

Connect them by choosing one of the

three words given below the statements in

the best possible way without changing
the intended meaning. Choose the best
possible word(s)/ phrase as your answer

accordingly from the options to form a

correct, coherent sentence.

A. Policymakers need to be careful not to
take foreign investors for granted.

B. The return of foreign capital is
obviously a good sign for the Indian
economy.

(1) However, ............

(i1) But the ............

(i1) Like ...........

1) Both (i) and (i1)

3) All of the above

5) None of the above

A. Foreign investors seem to have
rediscovered India.

B. The inflow of foreign capital into
India’s stock market in March 2019 hit
a high of $4.89 billion, the biggest
foreign inflow into Indian stocks since
February 2012.

(1) Indian Stocks since ............

(i1) Which can be proved by the fact that ....

(ii1) AS .ccuveeee.

1) Only (ii1)

3) Both (i1) and (i11)

4) All of the above

5) None of the above

A. Unapproved work, which appears to
have led to the Meghalaya accident,
cannot continue.

B. Employment should be provided to
those who are displaced in the
Meghalaya accident.

(1) Though ............

(i1) As if ............

(ii1) Also ............

1) Only (1)

3) Both (ii) and (111)

4) None of the above

5) Only (ii1)

2) Only (i)
4) Only (i)

2) Only (ii)

2) Only (ii)

ANSWERS

71-1 72-3 73-1 74-3 75-1 76-4
77-1 785 79-3 80-2 81-4  82-5
83-1 84-3 85-5
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JBNSTS Senior
Scholarship

Category: Merit based
Scholarship: JBNSTS
Scholarship Program 2019
Description: Jagadis Bose National
Science Talent Search (JBNSTS)
Program is providing financial assis-
tance to students of West Bengal for
higher education in science. The
scholarship program aims to encour-
age creative students of science to
attend undergraduate studies at
recognised institutions.

Eligibility: Students who have pas
sed Higher Secondary or equivalent

examination in academic year 2018-
2019 and are enrolled for BSc
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(Hons.), Engineering or Medicine at
the undergraduate level in any insti-
tution registered in West Bengal
may apply for this scholarship.
Prizes & Rewards: Selected stu-
dents will be awarded with a month-
ly scholarship of INR 4,000 till they
graduate (MBBS/BE/B.Tech/B.Sc),
along with annual book grant of INR
5,000. Students of Basic Sciences
will also be entitled to DST-IN
SPIRE Scholarship of INR 80,000
per annum for M.Sc studies.

Last Date to Apply: July 31, 2019
Application: Apply both online and
offline
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JBNSTS Junior
Scholarship

Category: Merit based
Scholarship: JBNSTS
Scholarship Program 2019
Description: Jagadis Bose National
Science Talent Search (JBNSTS)
Program is providing financial assis-
tance to students of West Bengal for
higher secondary education in sci-
ence. The scholarship program aims
to encourage creative students of
science at a younger age and help
them with Class 11-12 studies.
Eligibility: Students who have
passed Class 10 Board Exams or equ
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ss 11 with science stream at recog-
nised institutions in West Ben gal
may apply for this scholarship.
Prizes & Rewards: Selected schol-
ars will receive a monthly scholar-
ship of INR 1,000 (for 2 years/Class
11-12) along with a book grant of
INR 2,500 per annum.

Last Date to Apply: July 31, 2019
Application: Apply both online and
offline.
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Call: 08448709545, 08527484563
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